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Issues Treated in Paper

» If parents invest in human capital of children, how can children
repay parents?
Children cannot make commitments.

» How do parents get children to support them in old age when
children cannot commit to this?

» What is the link between parental investment in children and
children’s support of elderly parents?



In this Paper ...

» Parents may try to manipulate the preferences of children to
induce them to be willing to support elderly parents.

» Children “commit” to help parents through preference
formation.

» This “hard-wiring” of preferences can partly solve the
commitment problem, and may be Pareto-improving.

» We show this with Rotten Parent Theorem.



In this Paper ... (ctd)

» Child support creates a “Good Samaritan” problem.

» Child support most useful when parents face shocks to health
and longevity.

» Social Security helps elderly, but can reduce investments in
children.



Fraction of Parents Leaving Negligible Bequests

Table 1: Fraction of Decedents Leaving Negligible Bequests

Place, Time Percentage
United States, late 20th century 30
11 European countries, early 21st century 23
France, late 20th century 43
France, early 20th century 70
Paris, early 19th century 90
Paris, late 19th century 81

Sources: Based on SHARE data, Hurd and Smith (2001),
Piketty (2001), and Piketty et al (2004).

Notes: Entries denote the share of actual decedents who left
bequests smaller than $10,000 (in 2007 USD). The eleven
European countries are: Switzerland, Sweden, Denmark,
Germany, Greece, France, Italy, Spain, Netherlands, Austria,
and Belgium.



Fraction of Elderly Receiving a Pension

Table 2: Fraction of Elderly Population Receiving a Pension

Place Percentage
World 40
North America 76
Western Europe 92
Central Eastern Europe 87
Latin America and Caribbean 50
Asia and Pacific 31
Africa 18

Sources: International Labor Office (2010)



Fraction of Elderly Receiving Support from Children
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Subjective Bequest Probabilities

Table 4: Subjective Bequest Probabilities by Wealth of Household

Country Percentage / Probability
United States
Wealth Decile: Ist 25
3rd 56
5th 73
7th 81
9th 83

14 European Countries

Wealth Decile: Ist 44
3rd 47
5th 51
7th 61
9th 76

Sources: Based on SHARE data, and Hurd and Smith (2001).

Notes: For the US the entries reflect AHEAD respondents' average
subjective probability of leaving a bequest exceeding 10,000 USD by
decile in the wealth distrbution (Hurd and Smith 2001). In case of the
European countries, entries reflect the share of respondents who expect
to leave a bequest exceeding 50,000 EUR for sure. The fourteen
European countries included are: Switzerland, Sweden, Denmark,
Germany, Greece, France, Italy, Ireland, Poland, Czech Republic,
Spain, Netherlands, Belgium and Austria.



Model

Utility function of parents has altruism toward children:

V (Ip) = u(cm) + Bu(c,) + Bau(le),

where a denotes the degree of altruism of parents. Children
are not altruistic toward parents. a could be small.

Production function for human capital of children through
parental inputs
H=F(y,X)

where y measures investments in children, F, >0, F,,, <0,
and F is very large when y is small.

Earnings of children when adults depend only on their human
capital:

where



Model

» Budget constraints of parents at middle and old ages:

Cm+y+k=I,=E,+Db,

where k denotes savings of middle aged parents, and b, > 0
are bequests from their parents;

Co + b = Rik,

where Ry is the rate of return on Kk, and b. > 0 denotes
bequests to children.

Combining budget constraints gives single lifetime budget
constraint:
C+ 20 y + be =1,.
" Rk Re °
Ry could be low in poor countries, with badly developed
capital markets.



First Order Conditions

Maximizing utility of parents subject to budget and production
constraints gives FOCs.

» FOCs for parental consumption

u,=u and  Bu, = i (1)

m

» FOC for investment in children
BaUR, = u=u,, = BReu, if a>0y>0
» FOC for bequests (inequality since b, may be zero)

pau < - @



Bequests

Substituting (1) into (2), we get

paul < Bul  or  aUl <uj (3)
with < implying b, = 0.
Clear Interpretation:

» Parents do not leave bequests if they get more marginal utility
from own consumption at old age than from children's
consumption.

» Parents might want old age support, but cannot force children
to support them.



Bequests and Efficient Investment

Substituting (3) into FOC for y gives

&: Ug >1
Ry aUé_

with > implying R, > Ry and b = 0. If R, = Ry, then b. > 0.

» If parents leave no bequests, then the marginal return on
human capital investments is greater than the return on
capital.

» Inefficient investments in human capital.



Efficient Investment and Preferences

» How to overcome inefficiency in investments when parents do
not leave bequests?

» Equivalently, how to get children to support elderly parents
who want support?

» One way is to manipulate the formation of child preferences so
that it becomes “hard-wired” that children are willing to
support their parents.

» It is costly for parents to “hard-wire”. They spend z. to affect
children’s preferences.



Support from Children

» By parents spending z, children are induced to give support,



Parents’ Problem

Parents maximize their altruistic utility function subject to budget
constraint that includes z.:

V(IP - SP) = U(Cm) + ﬁU(Co) + ,BaUc(Ic - Sc)
Co Sc b
t Cp+—+y+z,— S+ _"=1|,—
S C R, y+2z. R, R, p— Sp

» FOCs for parental consumption no longer classical ones—come
back later to this.



Solution to Parents’ Problem

FOC for z. is:
asc

pau = u(5E/Re— 1) (4)

where gsC =R,, and > |mp||es z. =0.

» Necessary condition to spend z. is R, > R,. Why?
» Z. hurts children, so must do better than Kk if use z..

» Greater incentive to manipulate preferences when capital
markets are poorly developed (Ry low), i.e. in developing
countries.



Alternative or Complementary Models of Child Support

v

“Norm’ that forces children to support parents

v

How does this norm develop?

v

Children support parents if parents did

v

How does this emerge?



Bequests and Transfers from Children

» Parents who give bequests have no incentive to manipulate
children’s preferences to have children help them out when
elderly.

» If b > 0, then
e
lBaUC Rk'

by equation (2). So substituting into (4) gives

Re SR
R = Rk

The last last inequality implies that z. = 0 when b, > 0.

» Richer families have less need to become “close”.



Own Consumption and Transfers from Children

» Parents may spend z when marginal utility of their old age
consumption exceeds the marginal utility they get from
children’s consumption.

» Spending on Z narrows the gap in marginal utility, but never

fully closes it:
R R
aUl 2 =ul (= -1

which implies aU. < ul.



Child Support and Human Capital Investments

For parents who do not leave bequests, FOCs imply

R,
,BaU———>/3aU
« Rk

or Ry > Ry.

» If these parents manipulate children's preferences, the gap in
their marginal utility of consumption and children’s marginal
utility narrows.

» This implies that changing children’s preferences increases
investment in human capital of children.



Child Support and Market Imperfection

Using (5) and FOC for y gives

/
Ry_ uo

R, au.l’

» Hence, “hard-wiring" child support may partially overcome
impossibility of leaving debt to children by lowering RHS of
this equation, and hence increasing investments in human
capital of children.



Efficiency

» Therefore, this analysis gives an endogenous explanation of
why historically, and even today in many countries, elderly
parents have relied a lot on support from their children. It is
often more efficient for parents to spend resources
manipulating children's preferences so that they want to help
out their elderly parents, than it is for parents to save much for
their old age.

» Could children as well as parents be made better off when
children’s preferences are affected so that their utility is
initially reduced?

» Possibly, since as result of child support, parents invest more in
human capital of children.



Example

Suppose children are altruistic (perhaps made that way by parents),
and support elderly parents. Parents are selfish.

» Will they invest in the human capital of children?

» Rotten Parent Theorem says they not only will invest, but
they will invest optimally.



Example (ctd)

If the rate of return on human capital investments by parents, R,
exceeds the rate of return on capital, the combined wealth of
parents and their children would increase if parents invested in the
human capital of children, and financed that by equal reductions in
their savings for old age. Of course, that would leave parents
vulnerable to having insufficient assets when they are old. However,
since children would be wealthier because of the investment in their
human capital, altruistic children would use some of that wealth to
increase support of elderly parents. Indeed, if parental utility were a
normal good to altruistic children, the increased support from
children would make the parents better off, net of any spending on
investing in their children’'s human capital.



Example (ctd)

Even selfish parents make the optimal investment in their altruistic
children’s human capital because in this case children have the “last
word". That is, parents invest first when the children are young,
and the children only later repay the parents when the children are
adults and the parents are old. This is exactly analogous to the
situation in the Rotten Kid Theorem, where selfish children go first
with some actions that raise the income of their altruistic parents,
and parents later more than compensate the children for their
actions.



Testable Implication

» The model predicts that, ceteris paribus, parents who invested
more in the human capital of their children receive more
support in old age.

» Health and Retirement Study provides data on (monetary)
support from children and parental investments in their
children’s human capital, i.e. whether parents helped finance
children’s college education.

» Holding parental wealth and bequest probability constant,
human capital investment and old age support are positively
related.



Empirical Evidence
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Life Cycle Distortions

» Children's support induces life cycle distortions.

» If support is greater when parents have fewer own assets in old
age, then parents accumulate fewer assets. The FOCs are

0s u’ Ry
u’ — u/ e ﬁ 1 _ 7c _m — ,
m=—H Bu, Rk( ac, Bul 1 _ 9s

dco

. 0sc
with e <0.
» Child support at old age may mainly increase parental middle
age consumption.

» Parents may save little. This gives impression of poor capital
markets, but endogenous to child support.

» Good Samaritan Problem.



Further Implications

» Child support may induce parents to have more children,
especially if R, > Ry. Net cost of children is lower then,
especially with uncertainty.

» Value of child support increases when elderly parents face
uncertainty about health, or how long they live. Children’s
support may be mainly insurance against bad events. Relevant
rate of return:

E[R,] — Rx = —R,Cov(MRS o, R)

where Ry is the risk-free rate on savings, and MRS, denotes
the marginal rate of substitution between consumption at old
and middle ages.



Social Security

» Social security raises resources of elderly, lowers those of
working adults

» Working adults may, as a result, invest less in their childrens’
human capital
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